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問題 確率空間 (Ω,F , P ) に対して，確率測度 P は次の性質をもつことを示せ．

(i) P (∅) = 0 である．

(ii) P (Ac) = 1 − P (A) である．

(iii) A ⊂ B ならば P (A) ≤ P (B) である．

(iv) P (A ∪ B) = P (A) + P (B) − P (A ∩ B) である．

（解）(i) Ω = Ω ∪ ∅，Ω ∩ ∅ = ∅ より

P (Ω) = P (Ω ∪ ∅) = P (Ω) + P (∅)

となるので，P (∅) = 0 である．(ii) Ω = A ∪ Ac，A ∩ Ac = ∅ より

1 = P (Ω) = P (A ∪ Ac) = P (A) + P (Ac)

となるので，P (Ac) = 1 − P (A) である．(iii) B = (B \ A) ∪ A，(B \ A) ∩ A = ∅ より

P (B) = P ((B \ A) ∪ A) = P (B \ A) + P (A) ≥ P (A)

である．(iv) A ∪ B = A ∪ (B \ A)，A ∩ (B \ A) = ∅ より

P (A ∪ B) = P (A ∪ (B \ A)) = P (A) + P (B \ A)

である．また，B = (A ∩ B) ∪ (B \ A)，(A ∩ B) ∩ (B \ A) = ∅ より

P (B) = P ((A ∩ B) ∪ (B \ A)) = P (A ∩ B) + P (B \ A)

である．したがって，

P (A ∪ B) = P (A) + P (B \ A) = P (A) + P (B) − P (A ∩ B)

となる．
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